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V Semester 3 Year LL.B. /VI Semester 5 Year B.A. LL.B. (Maj. Min. System)/
B.B.A.LL.B./B.Com. LL.B. Examination, October/November 2022 (June 2022)

COMPANY LAW

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.

Q. No. 1. a)

Q. No. 1. a)

Q. No. 1. b)

2. One essay type question and short note/problems is
compulsory from each Unit.

3. Figures to the right indicate marks.

4. Answer should be written either in English or
Kannada completely.

UNIT — |

What are the advantages of incorporation of a company ? Marks : 10
FODOI x’om@ﬁéo&)ommw 90BROINTOR)R) ?

OR/egs

Who is a promoter ? What are his duties and liabilities ? Marks : 10

BRBFFI0TS CID 9 BRI 3BrR N T
TBRBMWOIN 03 ?

‘L’ incorporated a company of which he was the Managing

Director. In that capacity he appointed himself as a pilot of

the company. While on the duty he died in a flying accident.

His widow claims compensation against company. Will she

succeed ? Marks : 6

‘RO WOt 3’0332’003359% Qﬁfr}g%ﬁ& o o dgdm@wi
QT eBBTONITYS, e Oed 3a§ta§le FOTIOD DT LIOTIZ0ED
SerBRN TS, 3 éa’rdéada’mﬁm@ﬁ DB BTGFISTE),
R00ed BROTHTS. 33 BoEE WOTIT 30D FoB DT
Do BRWITY. B ez ?

OR/egs
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Q. No. 1. b) ‘A’ transferred certain land to ‘B’ on a condition that ‘B’
would never sell the land to coloured persons. ‘B’ sold the
land to a company composed exclusively of Negroes. ‘A’
took action for the annualment of this conveyance on the
ground that the property in effect had passed to the
coloured persons. Will he succeed ? Marks : 6
‘A’ o3 3;1 ?,,3@&1)05)5% JedFeod wIoNR SNRTLWOTHD
Q0% ROST e ‘B’ 1t B0, B8 ‘B’ 030 derkpenont
ROWORRT FoBAN B3 LRNOODR) TWROTD. ‘A’ 0d0 F RO,
PVQOAT TV 30 B3 dmsaudabq dc&a@ BRBEED T
BRBIDRD. 90 RONPRITIE ?

UNIT -1l

Q. No.2. a) Whatis memorandum of Association ? State the
procedure for alteration of objective clause of a company. Marks : 10
DI B, 0TI ? BOTAOL LVTIEB DLINEBTIY WTCRCWRED
AT &BRUIeTT ggoior{%g{ PR

OR/egee

Q. No. 2. a) Explain the doctrine of Indoor management with

exceptions. Marks : 10

LIOBY3T Rma@oéddz{ EIDTOTNE RO DOD.
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Q. No. 2. b)

Q. No. 2. b)

Q. No. 3. a)

One of the objectives of the company ‘Y’ was to manufacture
mechanical spares and to market them. The company ‘Y’

intended to manufacture gold ornaments and to sell them.

Advise ‘Y’ company. Marks : 6
gnodse WA zpaﬁﬁ%*dad ClovinleL AV dmbﬁéi MPIE VN

NTIEBROT ‘Y’ 0L BOTAODRY '-;%&#@aﬁdogd an Y

FOTOID zsgp ucéaﬁr{%% 303320 sz’uaoawddaq TIRNBED

ORI, Y’ FoTIN FOB ERRO.

OR/egse

A company issued an advertisement in a newspaper

stating that some shares were still available for sale

according to the terms of the prospectus of the company

which could be obtained on application. Do you consider

it as a prospectus ? Marks : 6
2WOTD BOTIOTL WBFRWS WGBO3ROTT_ zsaaoeoaéag TBesR

BoTROLH  Redonsh aZR, WRTLE,  LVPRR), evspiepinteln)

WOIRTT  e23F  ROY  TEOPWBITOTD  SORB. TR

TOWOD BZE[or )  TONESRONTD ?

UNIT -1l

Who is a Director ? Explain the powers and duties of
the Directors. Marks : 10

ABFeTT 203 0BT 7 AWFETFC @HFT @03 53?5:’%7@
AR O,

OR/egse
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Q. No. 3. a) Discuss briefly the conditions of relief for oppression
in the company. Marks : 10

BoBACDOT TIRPFOD 300800 TOTITE DWFOPINTY

RodTasoN LWUSFRD.

w0

Q. No. 3. b) Certain Directors held a meeting of the Board. But they
prevented some lawfully constituted Directors from
attending the meeting. A quorum was however present.

Whether the Board meeting is valid ? Marks : 6

305y A eBBR BoBYOD RYIODI), SEROBYT. T3 93
3O @mmucg) S00BLOD ITBF ETB30 R TOWOINRITIY
3BO30IYT. BTN Re30308), Bredo BT, OB B3
Re3030 mmmw%ﬁe?

OR/egse

Q. No. 3. b) The minority shareholders in a company brought an action
against the directors alleging that they were responsible
for losses which they had been incured. Will they succeed

in their action ? Marks : 6
0T IRPIT 3@@ B eBIBD) TOTITOTY ST

©WUR0LTYB ReTOTRTR T DTG BE0RY,  HWANTTD.

OB IRy BODIT, DR, WPRFTe ?
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Q. No. 4. a)

Q.No. 4. a)

Q. No. 4. b)

UNIT - IV

Describe the general principles and statutory restrictions

for the allotment of shares. Marks : 10

Redons BorsFod ORI QOTN 03 mﬁaﬁw%
@uocﬁﬁﬁ#d& QT[OR.

OR/egs?

What is floating charge ? When will floating charge

crystallise ? Marks : 10
Beess 9360200 DOTER ? O30 ROWPF TS, eews

930692700 ﬁwwaeadsamei;gd 9

The Directors of a company by two resolutions resolved

to make a call. But neither resolutions have specified the

date and amount of payment . Is the call valid ? Marks : 6
2,000 B0 VTP Redond BoedT 80T TEITYN

OB RARTING Rwes 3 BNRARTT. ST oTYTIe
RRB00DOR, D8 Y Teor BRZED, SRBONCDOY;

3383030 LWNF3e ?

OR/egm»
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Q. No. 4. b)

Q. No. 5. a)

Q. No. 5. a)

Q. No. 5. b)

‘X’ a minor was registered as a shareholder. After

attaining the majority he received dividend from the

company. Subsequently company went into liquidation,

‘X’ denies his liability. Decide. Marks : 6
X’ 00 LTRTR) 2003 FoTIOD REFTON RFEOTIDOVRLLII.

BRI TR doﬁo:—i@d WPT  FOTIOW0T mmoeﬁd&g{

R,CBOROTYS. BLN0BC  FOTIOID  WRRBIoDNZ. X’ Y

B BRBMOOFOR), BQNTOIVBYS. SeI0F IR

UNIT -V

Explain when a National Company Law Tribunal (NCLT)
can order for winding up of a company. Marks : 10

O3EOR Togyeod BT TSR SO3PEBTERR) word FOBAODR),
RNTIARPRLD 328 BRBWOTD 0LOTIY, DO

OR/egse

Discuss the members voluntary winding up of a company. Marks : 10

RO 7~ oeied SSNS SomRcH ARRTICDH B0 BIFAD.

‘A’ and ‘B’ were only shareholders as well as directors

of a private company. Some serious differences developed

between them and they became hostile with each other.

‘A’ seeks legal advise from you. Advise ‘A’. Marks : 6
‘e SR ‘W DowdTID BT QB 20T S39RN FoTIOD

ReBozo0td Tone JBFeBFR BNFR. J0BCRE, =0T

eata g zpmcgp'@ojor{% B3B3 BriSTew) WLoWD. ‘&’

QNOT TR BB WOPRTS. ‘@’ A FOT Je@D.

OR/eg
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Q. No. 5. b)

Due to Tsunami disaster, ‘X’ company suspends its
business for more than one year. A shareholder in that
company submits an application to the court for its

winding up. Will he succeed ? Marks : 6

TN FTDOT ‘X 20 BOTAOIV 3&2 a’gdmddéoq
20T amrgosm @z:% TOO LWRIBORAPRZ). FODNOD
m’e&mdﬁmwy B3 0T e FoBAOH  FNTIN

99, CBPV0IT, e3¢ m’eﬁ’gﬁ%}a%d OB ReESe ?




